N & O &

g Al

M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
6,191,766 1,663,210
2g9a2 1,273,753 266,576
880, 149 67,619
adda2e 357,423 N2,415
B2 Al 357,423 108,585
AP 22| Hl 3,360 400
1 LEt=FH| 3,360
DIOOt: =8 ¥ 2/t 300, 000& *33] 900
>ESI Z2H LA 1,960
OX-E]Hel & 38 2H
25,000 & *x2CH *3H x2 3] 300
OoBE ol ZE 80,000& *2CH*1 I = 13] 160
O&=x) & 25,0003 x50 x12& 1,500
DEA RU(SIAZ22 4Z) 500,000 1A 500
02 53294l 354,063 108, 185
O1222=2 % HA 146,400
DRERS 1,158
OAMNEBZ DA g5 1,930& 5021 x12& 1,158
DEFINNEREES 2,500,000& 23] 5,000
>EIRB 9,200,000& x12& 110,400
> ESCOAIY AtE=2 655,000 x12& 7,860
>ABIEER2 1,466,000 ~12& 17,592
DIOIABHAMUBEZ 50,000& *13] 50
>et=2g 22| A 3l (X20=2)
120,000& *13] 120
DAOIMESIH & ESHMAXN I
HI (Xl 2ol =2) 120,000& *13] 120
Det=2AEIsQESIH (XU sR)
100, 000& *13] 100
D>Et=20 3 2HE 5 A3l
4,000,000& *x13] 4,000
02 24| 81,663
DX detg ASHI(ZAIJEA) 81,663
O AR Al (LHg))
1,0853 x64 . 4m° x4 A| 2Ex72 20,124
O Z2AHZ(LHE) 11,0852 x122m x4 A| 2Hx72L) 38,123
o2& e (Lteh)
1,085& x7.95m x4 A| 2Hx72L 2,485
O 20 (dy) 7163 *87m *x8A| 2t 42! 20,931
O3 A& &HI s X bl 126,000
D= EASH 126,000, 000& =14 126,000
H=2AANEFXNE S 239,096 8,234




FA: 2SHSAE A
HE: 23 2L
S d=22d (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 60,476 66,042 A5,566
01 At 22l 13,140 13,080 60
O1 det=2Hl 13,140
DY M L HASE(AENL 15F)
3,000,000& =14 3,000
DEAUAIDIN(ARE2LH) AAM=22
150,000& * 12l 150
>SHIA ABAL BIAALLE
270,000& = 13| 270
DAgAY otA2e| (H&dE 430,000 128 5,160
DS etdze s (sHE81H, 3= E1
o) 380,000 =12& 4,560
02 =224l 47,336 52,962 N5,626
O1 233232 % AMA 10,036
DM EA 11,000& 167 E *23| 3,674
DEALS 50% *7,808m *53] 1,952
DAJtE I8l ARG (=M &H|, 2™
1) 4,410,000 *13] 4,410
O8 A€ &I Xl 37,300
>ERI1I] M2t 7,000
OWes KFLIE(320PRT) 5,000,000 *14] 5,000
OHBELH(E) 2,000,000 » 14! 2,000
>ZXAIE(2,206m) 2,000,000& »14! 2,000
DHSII(H24I] 2 2) 600,000 *3] 1,800
Dol S, A& 2,000, 000% 14l 2,000
DAAE 02 ¥ &2es)l
100, 000 =28 CH 2,800
DA JIHEE 22 (2HEZ 2 105)
300,000& 10& 3,000
DEXI EHUAH 3,700,000& =13l 3,700
> SEAE FHl =2 2,000, 000& 1Al 2,000
DEUEE A4 FHl =2l 5,000,000 14! 5,000
DIfelot=HMelAld 34 2 |2
8,000,000 =14 8,000
206 M= Hl 23,270 24,720 A 1,450
01 =8l 23,270 24,720 A 1,450
PUHEY M= 23,270
DAZECOEZIZ(1,200W) 45,0002 «65H 2,925
DE2A X &I (750W) 45,000& 654 2,925
DIt 2t0l E 2 (1,000W) 50,000 *20HK 1,000
D>&tZ A &2 2 (500W) 7,000 1004 700
DE AXERIOIEZIZ(2,000W)
1,000,000& 174 1,000
=N 60,000 *20H4 1,200




A SSHSAME A
H: ZIAIE 292
ool ey EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
> et Xl 200,000& *x52 1,000
DH=EXH 100, 000& x4 & 400
>3 ) oH 150, 000& x4 S 600
> Ootol el A 200, 000& *5H 1,000
>AAN 40,000& =304 1,200
Dols2 S& MZHl 1,820,000& * 14 1,820
DA, SA, A IH MEEl S
5,000, 000& * 14 5,000
>SsaEd Mz 1,000,000& x 14! 1,000
DOIHA Wogt A HOLM(HEH 2 28)
,500,000& x 14 1,500
401 Al HI L £ 0HHI 149,000 130,000 19,000
01 A& HI 149,000 130,000 19,000
OXdtz=2 AMES BEL2Z2A(AHZ2,01H, &I
s) 20,000,000& =14l 20,000
Oxds2 20 g (=E22HE) B3
Ak 21,000,000 =14l 21,000
OXdol=2 MM S (LED) M 3 A
8,000, 000& x 14 8,000
OXdo=2 SIS A 30,000,000& * 14 30,000
OXdtl=2 =9 Bt WA SAF
70,000,000& * 14 70,000
405 XtabF S| 6,350 10, 100 AN 3,750
01 A&t =S F St 6,350 10, 100 AN 3,750
OArZ & E 0| 100, 000& *2H 200
OLLAAER AKX =HIIHED] 550, 000& =5 2,750
OLAAES BHU £=EIED]
850, 000& =4I 3,400
I&E=s9 283,630 221,830 61,800
201 Yot Y| 283,000 220,000 63,000
03 S AFS H H 283,000 220,000 63,000
OJ18sd4 283,000,000& * 14 283,000
301 LprE A 630 630 0
09 HAtAHIEA S 630 630 0
OXISAX S| 7,000& *3091 x33] 630
GEsdE2d 393,604 194,647 198,957
GEsHEZ I 2 205,051 124,314 80,737
101 @121l 26,281 26,254 27
04 JI2ZtH2E2XNEE S 26,281 26,254 27
OSF3HE HA 26,281
>II23 48,1003 101 251 12,074
> a2 48,100 *251/12& 4 & « 10! 4,025
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EX: S3HSAIE A
HE: S23AIE 2d 2
Sel BEBUFRY (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
IS BAZ o8
5,000,000& x14l 5,000
206 M = Hl 4,700 5,500 A 800
01 X2 H| 4,700 5,500 A 800
O&EI|, S8, A8 JH MEH S
4,000,000 =14l 4,000
OWE RLY(s=+, &57) 100, 000& *73] 700
401 Al HI L 2 0HHI 145,000 10,000 135,000
01 Al& H| 130,000 10,000 120,000
OMSEZHE NS FAEL(HE,J1H,ED]
s) 30,000,000 x1A! 30,000
OWMEFXE HIIFX e HAAY
40,000,000 1Al 40,000
OWMSEFXE Atcte =3 A 30,000,000 14! 30,000
OWMEFXE EIIZ2A 30,000,000 x1A! 30,000
04 S AF2t&H Al & HI 15,000 0 15,000
OolsAalstEAa &X 15,000,000 * 14l 15,000
HMAE S22 4,576,162 3,226,658 1,349,504
Sgsaae 148,696 298,238 A 149,542
Se2sdIF 2L 69,916 231,448 A 161,532
201 et 9| 61,276 19,648 41,628
02 2324 61,276 19,648 41,628
O1 222 2 HA 15,400
DHNERYLEHS 8,200,000 *13] 8,200
DA JIEEANSE 600,000 x12& 7,200
02 d=4l| 3,876
>DERs& HEH 3,876
O JIHZEHI(HCIZDQ 38)
1,700 *x60H *4 Al 2+ 95 3,876
O3 A& &H|l S Xyl 42,000
EEg2sd FA8Y 42 ,000,000& * 14! 42,000
202 044 8,640 7,800 840
01 2L Y| 8,640 7,800 840
OMESANE 892 {8 ol 720,000 x12& 8,640
EZER2ESHANEKRANES 78,780 66,790 11,990
201 Bt 22,180 21,800 380
01 AF 22| H| 11,280 11,700 AN420
O1 detf==2H| 10,080
Dot EA M U MNASE(SHEA 15IHA)
300,000 x12& 3,600
D> ABEAY otAM 22| HEiE 340,000 ~12& 4,080




SH: 2BAS AL L
HE: AL 2g2e
=
=}

ool sgesyal (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SS20 ordeel HEa (A1)
200,000& 128 2,400
o6 Ix=z 1,200
D22 & & =)
600,000& *23] 1,200
02 =524l 10,900 10,100 800
O3 A& &EHl® 10,900
DOIAHEY B (RO 22E1012 145)
4,000,000 * 14! 4,000
DRI F 100, 000 *10CH 1,000
DA S, A3 sXNE=x
2,000, 000& 14l 2,000
DATZSEEN =X E&#3I Fa
9,000& *100& 900
SF RSB TES 24 (PC,BAZZIQ
5&) 3,000,000& »14! 3,000
206 = Hl 36,600 24,990 11,610
01 MHZ 4l 36,600 24,990 11,610
Os8tlz (8K 55,000 260 14,300
O%Hl & 220,000& =103l 2,200
OgEol &dHE s 30,0003 260 7,800
Ooctelg Hel e 50,000& *2& #2028 2,000
O&O & HHE A 29,000& x50= 1,450
OFEFRZ3L(ZRE) 450,000& 1= 450
OBAg 8 MOURY(SHXE) 20,0002 *200m 4,000
O&EIl, sS4, 48 J1H MHEHl &
4,400,000& =14 4,400
401 Al HI L 2 THYI 20,000 20,000 0
01 A& Bl 20,000 20,000 0
ZHLSSH ANMES SNSL(AS,01, 8]
g) 20,000,000& =14 20,000
X oM = 2t 2tel 341,257 330,211 11,046
AAHs2ZG2el 270,404 257,065 13,339
201 2ot Y| 270,404 257,065 13,339
01 At 22l 3,468 3,468 0
O1 get==EH| 1,200
> 2Bt F | 100,000& =128 1,200
O5 =&l 2,268
D>Oor2t, 522 7,000 32193 x12& 2,268
02 =224l 266,936 253,597 13,339
o1 33k= ¥ 224,936
PUSHRYR 1,900,000& *13] 1,900
DEIRS 10,200,000& 128 122,400




SH: 2BAS AL L
HE: AL 2g2e

Selr JAHSs 22 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Do -t MES 600,000& »12& 7,200
DIOtAHI A MABE = 50,000& x13l 50
DASOIMESIH (IS 22IAL)
60,000& x13l 60
Det=ag 2| AFE Sl bl (RIS M S 2)
120,000& * 13l 120
DA ety A2H (S AIIEA) 93,206
OAtRA (He) 1,085& *32m" *8A| 2t+72L 19,999
O ZII& (L)  1,0853 x128m *5A] 2H+602 41,664
OZINE(He) 7163 87 m x5A| 2h+42 13,082
oZdIE 22I(HUHER)
1,2823 x188 »2CH *5Al 2++80L 18,461
O3 A€ ZHlI s Xt 42,000
DIAMS2 FAEH 42,000,000& =14 42,000
ANAHESZ2AERANE S 70,853 73,146 A2,293
201 Let24d] 45,835 45,053 782
01 At 22/l 22,591 22,529 62
O1 get=&Hl 22,591
DEAUAIDIN(22LH) A =22
100,000& * 13l 100
DEFINA AEANE HISM =2
300,000& x13l 300
DAYAY otdze HES(XAHS2)
410,000& x12& 4,920
DXJHE HMII&H erd e S (=H Al
900kW) 1,059,200 12& 12,711
DS et S (ZHHAE1T)
180,000& »12& 2,160
DIEA AUES L FAES(HLY 1004
2) 200,000 =128 2,400
02 =224l 23,244 22,524 720
O1 3322 ¢ HA 2,244
DM EA 11,000& x102E *23| 2,244
O3 A€ FHI= Xt 21,000
>ESRAII M2 10,000
oYW+ KLIE(320RT) 6,000,000 » 14! 6,000
o242 (0.35MW) 4,000,000& =14 4,000
DIOIAHA JIAEBH R Ex(LHEB I 95)
300,000& x10& 3,000
DHHGHI S B 250,000 »4CH 1,000
DOtAZ YD 2ofE S 1,000,000& 14 1,000
DM S, A3t8H AL+
2,000,000& =14 2,000
DEEEH RANES 2,000,000 » 14! 2,000




SH: 2BAS AL L
HE: AL 2g2e

ool HletHs 2R (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
DADN Y 24x MYT HBAHABL(PC,EEB
2712 38) 2,000, 000& x 14 2,000
206 M= 8l 5,018 8,093 AN 3,075
01 X2 bl 5,018 8,093 N 3,075
O&I|, S, A8 JIH MEH S
3,000, 000& * 14 3,000
sX)| 0IESEH 46,000 =184 828
O3XJ| Z2l2H 35,000& *34J4 1,190
401 Al B2 2 0HHI 20,000 20,000 0
01 A& HI 20,000 20,000 0
OXAHESH ANEE BEx=ZAHAHAE,01H, &I
s) 20,000,000& *14] 20,000
A= & 22 96,453 95,545 908
UZHANE2H 2t 54,517 55,281 NT64
101 @121l 26,281 26,254 27
04 JIZtHIZ22NHEE 26,281 26,254 27
O/FL=Z& FA 26,281
>ol=23 48,100 * 121251 12,074
> a2 48,1003 #2511 /128 4 & 10l 4,025
>DFEEsY 48,1003 * 121 %52 2,502
DA 48,1003 *121x 12 578
>ZAad £ nsShl 250,000 101 x12& 3,000
>EAZ 22,131,000& /12& 1,845
>PROAZIEEZ 22,131,000 *4.5% 996
DP=OALEEHZ 22,131,000& *2.995% 663
PEAIIRABEZ 663,000& *6.55% 44
>INE8SES 22,131,000& *1.5% 332
DA EE S 22,131,000& *1% 222
201 Yer2 2t 28,236 29,027 AT91
02 3524l 28,236 29,027 ANT91
O1 2822 ¢ HMA 27,420
DOIgHY AMHI A EE 50,000& x12& 600
DEtAN RS 60,000& *23] 120
DEIR=S 2,200,000& x12& 26,400
N E O =R 20,000& x12& 240
> ot= A Y orME 3| 60,000& *13] 60
O2 Azt 816
DOIAHEH (S22 15)
1,700 x30H x4 Al 2F x40 816
YBZANLRX B S 41,936 40,264 1,672
201 et A | 19,576 17,454 2,122




SH: 2BAS AL L
HE: AL 2g2e

Helr a2l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 14,124 12,024 2,100
O1 get=EHl 12,924
DR L HEEIS(SHEA 6IHA)
100,000 128 1,200
>XONE FIlAH etEBEl B (+E L
500kW) 407,000& x12& 4,884
DAgAH otd2tel = 210,000& 128 2,520
D& ordze HHAZ(HMAS)
180,000& =123 «20H 4,320
06 gtz 1,200
D22d AU X2 (XC0 &)
600,000 »23] 1,200
02 =24l 5,452 5,430 22
O1 3322 ¥ HA 652
DAESIE FA 18& *24,000£ 432
DM EA 11,000& x10&E »23] 220
O3 AIE€ ZHI =Xt 4,800
DIOIHEH B (SXE &UAIIL 68)
1,000,000& 14 1,000
DY) K2 100,000 = 13CH 1,300
DM S, A3t8H RAE+
2,500,000& =14 2,500
206 M= Hl 6,860 8,010 A 1,150
01 =8l 6,860 8,010 A 1,150
O=sgH2(32Ua0) 20,000 501 1,000
ORJIZHE 20,000& x50 1,000
O™ =H 10,000& 505 * 13l 500
OctelE HelE 50,0003 x4 S +62] 1,200
O&EIl, sS4, A8 J1H MHEHl S
2,000,000& =14 2,000
O&OTZE HHE A 29,000& »40& 1,160
401 Al HIZ 201 I 15,000 10,000 5,000
01 A& HI 15,000 10,000 5,000
OR=2LZH N2 RANE=(HE, 01,80
g) 15,000, 000& 14! 15,000
405 XHoHF S HI 500 4,800 A 4,300
01 AL EZFH S 500 4,800 A 4,300
Oul=2l 500,000 1CH 500
UM SHH2Y 1,323,156 1,076,963 246,193
=MSHdEH 2 707,076 690, 745 16,331
101 @144 Hl 40,242 101,073 A 60,831
YR EYEE L 40,242 101,073 60,831




SH: 2BAS AL L
HE: AL 2g2e

el ROIMSHERY CER-ED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
O/|Z=Z20IHESHYH HIEBXZHA 24 40,242
= 44 7003 %201 %123 10,997
>ANS 938,700& #2021 x23] 3,755
>EELE 44 700 #2021 %263 2,325
PAXRSEIIEE 44, 700& 201 x 7 626
> At e 2R 4
44 7002 /8x1.5%55A| 2t%201 x6E 5,532
>ZAad ¥ ns2X| 250,000& 221 x6 & 3,000
>EAZ 26,232,820 /6 *x2.54 10,931
D=ROUAZIEES 26,232,820& x4 .5% 1,181
D=0AABHE 26,232,820& *2.995% 786
PEIRABEZ 786,000& *6.55% 52
PNEYEs 26,232,820 *x1.5% 394
DMEE S 26,232,820& *1% 263
> Il =4l 100, 000& #2021 %23 400
201 Yet2 | 661,894 581,832 80,062
01 At 22l ] 33,948 34,550 AN 602
O1 2Bt=2H| 31,908
DEANSIGZEH 450,000 x12& 5,400
DAMEIIEZN &FF = IIUE >
50,000,000& *2.8%*12& 16,800
DESIZHLA (N, &, 2XEH, HEYHOIE
&) ,500,000& 14 2,500
>DIOglH & 177 ,000& x4 = 708
DOIECtUHE HME(FE, 3AE S)
6,000,000 » 14! 6,000
>PS3US 500,000& 14 500
O4 Il =4| 1,200
DOHE WUZ2FX 100, 000& x2021 %23] 400
D>IIHA 22X 800
08,02 100, 000& 221 %23| 400
o&Xg= 100, 000& #2021 %23] 400
O5 S| 840
DOt - 522 7,000 x201 x53| x 12& 840
02 3524l 627,946 547,282 80,664
O1 2222 2% [MA 452,100
DEGA AN JIEAHE LEFGRS
10,000 *13| & x12& 120
DEIR=S 17,000,000& x12& 204,000
DAMSIEERS 20,000,000 x12& 240,000
DEFINRE 2 1,500, 000& *23] 3,000
DHNEgER=2 2,000,000 13| 2,000
DEZHHEINELSSAZ 180,000& x12& 2,160




SH: 2BAS AL L
HE: AL 2g2e

@ FYHSUE2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DRoHY AIEE 40,000& x12& 480
>et=2dE D=0l 83l 100,000& =12l 100
D> et 2e|AtE 3l 120, 000& »20! 240
O2 H=l 175,846
>4YY 22 RN S
1,085& x101m «5A| 2k+320L 175,336
DHAE LI (300KN) - 2=
1,700& x300£ *13] 510
202 Odl 3,840 3,840 0
01 = LHA YI 3,840 3,840 0
O=CUN=sdH2YE YRF=&  320,000& 12 3,840
405 RHoHE S HI 1,100 4,000 A2,900
01 AL EFFHSHI 1,100 4,000 A 2,900
Og=xJ(+=2%8) 110,000 = 10CH 1,100
SFUMSHIHAE SN E = 616,080 386,218 229,862
201 Let24d] 358,030 120,828 237,202
01 At 22/l 43,470 43,470 0
O1 gt=2Hl 43,470
DIAYUMSHE HLAEEZ(SFEX L 26F)
2,500,000& +x12& 30,000
DXIHE ®IIdd ™M EEH (=& AHl1, 40
Okw/Hl & 2 & D] 300kw) 3,600,000 =14 3,600
Dagtddl AdEHY WA= 510,000 «128 6,120
D& ordze HHAZ(S2HE)
200,000& x123| 2,400
DEFENMAMEANE FIEH =2
350,000& *12] 350
DEAUAIIN(EL) dAx2
250,000 +20H »22] 1,000
02 =224l 314,560 77,358 237,202
O1 3322 ¥ HA 14,960
DEALS(HALY S HSHA)
400,000& 123 4,800
DAESIE FA 18& %120,0004 2,160
DM EA 11,000& 200 *23| 4,400
DIHelst=MelAld 34 2 |2
300,000& =12 3,600
O3 Al ZHl s Xl 299,600
DRotE+E HA L H+EHZ RAE(45
E) ,000, 0003 24 £ 4,000
DOIEEE ZHUAN 65,000 »40CH 2,600
DEXRIIEH wHd ¥ 22l 1,000,000 «3CH 3,000
D 3L Ex ¥ EHLA
1,000, 000& »2CH 2,000




m: MsAE 2
?: FUMSHE 2

D2 MSAMEA

02
s
m

. SfE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
>EsA H24I](180RT) Al2Z At
4,000,000 * 14! 4,000
DAEEEY X SuEI AZSA
6,000,000 » 14! 6,000
DSE2IZEANLAE RIS
15,000, 000& 14! 15,000
DGy SAAAMAH RAEX(EIIL
15) 5,000,000& » 14! 5,000
DRGHANAY RXAEL (G EHI 3F)
10,000, 000& 14! 10,000
DEHIASHHAMAY S+
5,000,000& » 14! 5,000
DEAIAEH SAES 300,000& *x10& 3,000
DEFIVUMSUH(>LE ZE), d2lEX
S F3as9 240,000,000& 14 240,000
206 = Hl 28,050 33,390 A5,340
01 M2 4l 28,050 33,390 25,340
O&Il, sS4, A8 JIH MEHl S
5,000, 000& 1Al 5,000
OdUE(+dE, 8AF, ot&4A, 4H]) ¥
| M) 5 50,0002 *504 2,500
Ox=FE A=A 1,300,000 »12& 15,600
OdloEctold (= . &EA ARAE)
45,000& *30& 1,350
OAIIl & #57¢¥ 30,0002 12074 3,600
401 Al HIZ 201 8] 230,000 45,000 185,000
01 A& HI 230,000 45,000 185,000
OE=IUUMSHH AME2 XA, I1H
Il ) 20,000, OOO% 14] 20,000
O2==2UNMSHE NSALE HNEE WX
12,000,000& 14! 12,000
OJF2LUMSHEH JIAHs S3ME BA
8,000,000 » 14! 8,000
OFF=ZCUNSHE &2 ZHSA
80,000,000& » 14! 80,000
OFFIALUMSHH = F HE =T A(1,72
om) 110,000, 000& * 14! 110,000
JIEFM S Al & 2tel 103,870 35,156 68,714
JIEtHSEAIE2g 2el 14,520 14,520 0
201 ¢er24l 14,520 14,520 0
02 =224l 14,520 14,520 0
O1 2323 2 HMA 14,520
PEANLLLS(HR2HSD)
660,000 x23| 1,320
PEISS(H2H=2) 1,100,000 »12& 13,200




N 2 HMFSAE A

3 MEA

8 2y

Sl JIEtMS Al E 22

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
JEtHNSAERAE = 89,350 20,636 68,714
201 24l 7,750 9,036 N 1,286
01 At 2t 2l 3,360 4,800 A 1,440
O1 get==2Hl 3,360
DRSS XAItE dI|&8 2| CHE
Z (=&l 63KW) 100, 000& =123 1,200
DHMIRHS2 ALLH MY HES
180,000& »12& 2,160
02 232gHl 4,390 4,236 154
O1 3322 ¥ HA 1,390
DAESET HA(H2HSZ) 18& *25,0004 450
PH+E FA(H2ASH)
11,000 *40E& »23] 880
DetaAYUOMESIH (Aot 22| XL)
60,000& *13] 60
O3 A& & Hl s Xt 3,000
DM S, A58 AL+
3,000,000& =14 3,000
206 M= Hl 1,600 1,600 0
01 =8l 1,600 1,600 0
O&Il, sS4, A8 I MEHl &
1,600,000& 14 1,600
401 AIEHI L 2 CHEI 80,000 10,000 70,000
01 A& Bl 80,000 10,000 70,000
OJIEtMSAE A8 SN (HE,JH A
o 8) 10,000, 000& * 14 10,000
O3FHUAY fE&EHE 223 AM
70,000,000& =14 70,000
=33 2el 251,700 267,458 A 15,758
HEsZFALE29 22| 32,580 37,188 A 4,608
201 Let2d] 32,580 37,188 A 4,608
02 2524l 32,580 37,188 A 4,608
O1 3322 ¢ HA 32,580
Da-St=EAMES 1,640,000 128 19,680
>HEIIRS 1,000,000& =122 12,000
D020l =032 =0lAE tHaxY B8 s
900,000& =14 900
HEIFANERAE = 219,120 230,270 A 11,150
201 Let24d] 27,080 27,080 0
02 =24l 27,080 27,080 0
O1 3322 ¥ HA 25,080
DHa=Z HA(0HE0l =033 2=20) 25,080




SH: 2BAS AL L
HE: AL 2g2e

Sel: MSZR2L (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
oute == 11,000& x25E 83| x6& 13,200
ogd E2= 11,000& *45E x4 3| x6 & 11,880
O3 A& &Hl s Xl 2,000
DM S+, 257 KA
2,000,000& x 14! 2,000
206 M = Hl 3,040 4,190 A 1,150
01 X2 Hl 3,040 4,190 A 1,150
OFII,S4, 4% 012 MEH S
1,500,000& x 14! 1,500
Olet @ si@2s HAR MR
11,000& * 1404 1,540
401 AIEHIL 20| 189,000 199,000 A 10,000
01 A& HI 189,000 199,000 A 10,000
ONE2¢ A2 RANEE(HS,J1H,8I] S
) 25,000,000 * 14! 25,000
O0el0l=0lsd S0 LEDZ=Y WM SAt
20,000,000 * 14! 20,000
OO0 Z0I B8 24 (HE =) QHED &
2= (3.7KW) 5,000,000 «3CH 15,000
ONME3d =227 WUM3A
20,000,000 = 14! 20,000
O=sXl&2 109,000
> M= 300& x70,000m 23| 42,000
> &C 24 D] 300& x70,000m *23| 42,000
DESHH(SEMS 22 5HA)
25,000,000& =14 25,000
SN SHE 22 405,381 427,250 A 21,869
dEHEG 22 170,980 170,176 804
201 YEt2 | 170,980 170,176 804
01 AR 22l ] 8,780 11,780 A 3,000
O1 etx=2H| 4,880
>3lEIIE HE 700& *1,0000H x23! 1,400
D> ESAIE X 360,000& 14 360
DRlEREE 50,000& x12& 600
DEZE I (GE @A) 50,000& x12& 600
DAMEOA 15,000& x5 A x12& 900
DAZIEZN EFE IIUB =
5,000,000 *1.7%*12& 1,020
O4 Il £H4| 1,200
DOHE W22 X 100, 000& 2021 x23| 400
DHAASE HE 200, 000& 20! 400
D>IIHA 22X 400
os=.ot= 100,000 %201 %23] 400




N 2 HMFSAE A
g HMSAME 2822

SHol: SOIHSUE 2 (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O5 = &t 1,800
Dottt &2 5 22K 150,000& = 12& 1,800
O6 Xtz 900
> &2 25,0003 *3CH x12& 900
02 3524t 162,200 158,396 3,804
O1 222 2 HA 55,540
DAANESHAZ 25,000 x12& 300
DAEQHYAIZE S 30,000& x12& 360
DEIANEELS(MSAESE)
1,000,000& *x23] 2,000
>DEIR= 3,900,000& x12& 46,800
DA Bl AIE S 400,000& x12& 4,800
DIOIABHABUE S Z 20,000& 13 20
>Xot=0I2E8E23 100,000& = 12& 1,200
> St2AYOotME 3 H| (Aot 22| Xt)
60,000& *13] 60
02 dZH| 104,160
PSR HSHE HHe L 2 (T AIJDEA)
1,085& x120m° x2 5A| 2+%320L! 104,160
O3 A& &Hl R4l 2,500
DOHEA T2 SANEL (2GS, dAR)
1,000,000& * 14 1,000
>AIRE &AD|D|] KXY 1,500,000& x 14! 1,500
HdEHANER XS 234,401 257,074 N22,673
201 LEt2AY| 135,501 54,074 81,427
01 AFR2t2l bl 18,455 19,518 A 1,063
O1 etx=2H| 18,455
Dot&EA M Y HA ZE 500,000 128 6,000
PagE 23 43 100,000& *2 Ml E 200
>DMYI BEH SE 2,300 *15&x12& 414
>Hldo 28 Y 35,000 *6H 23] 420
DEFHIIA ASAIE I M2
270,000& 13| 270
DB HIBAN =2 300,000& *13] 300
DAagtAd HEAEYE &S  300,0008 x12& 3,600
D>XJIE ®I|4H otF e S (=FAd|
250KW , EF & J| 115kW) 404,250 128 4,851
D& otEe S (s2H= 10)
200,000& x12& 2,400
02 332494l 117,046 34,556 82,490
O1 222=2 % HA 3,336
DX HA 11,000& x 102 = *x23] 2,244
DYt A S 50& x4,368M x53] 1,092




N 2HSAY

M AL 22 JEFEI

& sUMSUE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O2 A=l 170
DHlAE LI (115KW) -3 =
1,700& %1002 *12] 170
O3 A& ZHl s Xl 113,540
D2 A& 5,000, 000& =13 5,000
D& ZHAIE (0 D]) |A2el
4,500,000& *13] 4,500
Dol S 2a(2e 55)
3,000, 000& 1Al 3,000
DagE W HA(HM) 2,000,000 *14] 2,000
DY X2l 100,000& = 16CH 1,600
DI =M= 83 A
11,000& »40& 440
DEER2IAACANLE RAES
5,000,000 » 14! 5,000
DEHIANE S22+ 4,000, 000& = 1CH 4,000
DAYAE SN+ 2,000,000 » 14! 2,000
PESELI RAES 1,000,000& »2CH 2,000
DSOS SHH FAES
84,000,000& =14 84,000
206 M= Hl 16,900 18,600 21,700
1T M=l 16,900 18,600 A 1,700
Ox=g8% A=%4S 450,000& x12& 5,400
222 &N 200,000& 128 2,400
O&X JISX & &3t3] 7
1,000,000 * 1Al 1,000
QAT IR (LEQ 9F) 1,100,000& 14 1,100
O+ 8 8AR 424 W
1,000,000& 14 1,000
O&J|, S8, 42 J1H € MEHl
2,000,000& =14 2,000
Ox=dUE o IR 50,000 *40HK 2,000
OHIH LED SOI17 7 2,000,000 =14 2,000
401 Al HI 2 28I 70,000 82,400 A 12,400
01 A& HI 70,000 82,400 A 12,400
OsEsMSHE NS FXES(AHA2,002
B8] 8) 10,000, 000& * 14! 10,000
O=gel Ua) & =X wH3AM
15,000, 000& 14! 15,000
O=ZFUE HtS Bt Wi SAt
30,000,000& =14 30,000
O=s8ZstHs4dE CCTV &XI 3 At
15,000, 000& * 14 15,000
405 THebH SH| 12,000 30,000 18,000
01 HatH ESFH S 12,000 30,000 A 18,000




SH: 2BAS AL L
HE: AL 2g2e
Sel: SO HSME L

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OME XS MM S 5,000, 000& *1H 5,000
O8N 2,000, 000& = 1H 2,000
O&BHAD| 1,000,000& = 1H 1,000
OgEelA 4,000,000& =14 4,000
dIEME2E 29 106,069 108,649 AN 2,580
dEXMs2 22 72,924 73,104 A 180
201 LBt A H| 72,924 73,104 A 180
01 At 22l ] 2,400 2,400 0
O1 etx=2H| 2,400
>EINE 2g 24| 200,000& x12& 2,400
02 352494l 70,524 70,704 A 180
O1 222=2 % HA 70,524
>DEIRB 4,400,000& x12& 52,800
D> ESCOALY &tEt32 1,227,000& x12& 14,724
DEEINNEE S 1,000,000& *x23] 2,000
DHNSRLRES 1,000,000& *13] 1,000
A EMNSHANLERAE 33,145 35,545 AN 2,400
201 L2 | 19,145 20,845 A 1,700
01 AR 22l b 17,145 18,345 A 1,200
O1 et=2H| 17,145
DUZIEMESH EAZE (AL 25F)
6,000,000 * 14!l 6,000
DAL) ZHUM(EN MM, &Xel EH
2 d=gel mEsH) 800,000& 14! 800
DYt A s 50& *2,897m" x53] 725
DMeEXHEA 11,000 *50E #23] 1,100
DAJIE MI|&H otMAY (S (84|
400kw) 330,000 x12& 3,960
DAagtAd ord e &3S 180,000€ x12& 2,160
>S2A)| OHFMZUZ B2 (S22K)
200,000& x12& 2,400
02 352494l 2,000 2,500 A 500
O3 A& &HIs X bl 2,000
DAIEMESE HHAH, MY SANES
2,000,000& x 14! 2,000
206 M = Hl 4,000 4,700 A 700
01 & bl 4,000 4,700 A 700
O&I|, S, a8 JIH MaH S
2,000,000& * 14! 2,000
OxdEE o M| 50,000& *30= 1,500
OFZ & =2 HHEX 50,000& *10H 500
401 Al B 20 HI 10,000 10,000 0




SH: 2BAS AL L
HE: AL 2g2e

& deEMSY 2d (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 10,000 10,000 0
OYCIEMSZ ANEES SAE=(HE JH. A
a 8) 10,000, 0002 14! 10,000
AFSEMs22 745,851 587,188 158,663
FFSEHs2I 2 588,893 449,085 139,808
201 LB-2dH| 588,893 427,491 161,402
01 At 2t 2l 3,384 6,384 A 3,000
O1 et 3,384
DEREMA2I+=E2HI 200,000& 128 2,400
DAEI QUE 41,000& =20 =128 984
02 2324l 585,509 421,107 164,402
O1 3322 ¢ HA 252,065
PRERYLLS
350& *13,063.06M *0.82+0.5 1,875
DEZNERE S 2,500,000& x23| 5,000
>HEIIRS 18,400,000& =122 220,800
Daot=ER3 2,000,000& x12& 24,000
DIOIAHIAMAESE S 50,000& *13] 50
Det=2dME IS EIL(ZEHUNEH)
100, 000& =13 100
DAYOIMESH ¥ St 3l
gl 120,000& * 12/ 120
> st 22l AHE 3l I 120,000& * 13l 120
02 A=l 207,444
DESMSZ LY AZH (S AITEA) 207,444
oZINF ()
1,085 xQON M x8A| 2+ *x2CH »72 112,493
OZINF(He)
7163 x 120N M x8A| 2+ *x2CH #42 57,739
0&JIELH
1,0853 43 .5Nm" x4 Al 2H+20H x 72 27,186
o=2=2¢d
1,085 «27NM «4 Al 2Fx10H 72 8,437
OFAUIA HEE
1,282 «4 Al 2H#20H + 72 739
OHl&E ZAI|(700kKW) - B3R
1,700& 5004 *13] 850
O3 A& ZHlI s Xl 126,000
DRSS FAE8Y
126,000,000& * 14! 126,000
ATEEMSZANERINES 156,958 138,103 18,855
201 LBt2d| 81,378 98,398 A 17,020
01 At 22l 23,370 36,690 A 13,320
O1 Let==EH| 23,370




SH: 2BAS AL L
HE: AL 2g2e

ool AEZSS L (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DIZAAM L HAEZ (AL 158)
500,000& »12& 6,000
DAAMUHAIIN(2+E2LD]) M =2
150, 000 & »2CH 300
DEFHINA AASAE ZBIIBA =2
270,000& x 13l 270
DAYAH otd22 =
1,000,000& =128 12,000
D&Y oA HAS(SHE)
200,000& =20 x12& 4,800
02 2324l 58,008 61,708 A 3,700
O1 22232 2 HA 28,008
DM EA 11,000& *464 E x23| 10,208
DHAE HA 300,000 *6LH 23l 3,600
Dats2 ezt 2,000,000 =2CH 4,000
DXGHHIE E+& Ea& 1,200,000 * 1Al 1,200
DAItE &II&Hl etd & EH|
9,000,000& x13l 9,000
O3 A& EHl s Xl 30,000
DESME2 AEEH S
30,000,000& =14 30,000
206 M= Hl 28,580 39,705 A11,125
01 =8l 28,580 39,705 A 11,125
O&Il, sS4, A8 J1H MEHl &
2,500,000& =14 2,500
OFZHM & A2(BELHE) 190,000 =122 2,280
Ood,»e sXl2el M=l 5,000,000& =14 5,000
OSZAE & AMLH (HEQ 58)
3,000,000& =14 3,000
OUE(s+) 100,000 65 600
OZXD| OIs2H2 258 95,000& 804 23] 15,200
401 AIEHIZL 201 47,000 0 47,000
01 A& tl 47,000 0 47,000
OF=ZEHSZ OIRHE MY ZZ I3 A
25,000,000 * 14! 25,000
O=ZEHNsd T2s7 & 24 EHOIH
XIS A 22,000,000 * 14! 22,000
CENsA2Y 1,053,729 0 1,053,729
CEMs2 22 613,087 0 613,087
101 124 dl 123,219 0 123,219
4 D12t Z2XEES 123,219 0 123,219
Otgi=sa d382x3d E= 94,201
>olEas 44,7003 *3Q1 251 33,660
> a0z 938,700 x321 %43 11,265




SH: 2BAS AL L
HE: AL 2g2e

ool caNs2ey (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
>EsY 44 7003 *3Q1 x52== 6,974
PAXRSEIISEY 44 7003 *3Q1 %11 1,476
> AR 2eag
44 7002 /8x1.5%55A| 2+ 128 %30 16,595
Daaldl ¥ WESEZXH 250,000% x321x12& 9,000
>EAZ 78,970,000& /12& 6,581
>=R0AZEES 78,970,000 *4.5/100 3,554
DROUAUEHS 78,970,000& *2.995/100 2,366
DEAIQABES 2,366,000 «6.55/100 155
PNEaBdEs 78,970,000& *x1.5/100 1,185
DAMTEEZS 78,970,000 %1/100 790
> Il = H| 100, 000& *301 *23] 600
Ot g2 MNMEgdeEx 29,018
>olE23 48,1003 191 %251 ! 12,074
> a2 1,010, 100& « 1021 %4 3] 4,041
>DFEsaY 48, 100& * 191 %52 2,502
PAIRSFEIISEY 48,100& 121 %11 530
D>AIZER 224
48,1002 /8x1.5%20A| 2+ x 128 10! 2,165
Daald ¥ WESEXH 250,000 x121x12& 3,000
>EAZ 24,308,000 /12€ 2,026
>=0dZ2EE= 24,308,0002 *4.5/100 1,094
DROUAUEHS 24,308,000 *2.995/100 729
PEAIIQRABEZ 729,000¥ %6.55/100 48
PNEaBEs 24,308,000& *x1.5/100 365
DAMAEEES 24,308,0002*1/100 244
> Il =l 100,000& =121 %23] 200
201 LEr2 Y| 441,748 0 441,748
01 AP 2t2l bl 30,756 0 30,756
O1 getx=2H| 24,468
DEMNSI+EH 450,000€ x12& 5,400
DAEIIEZN FEFH =5 NUE =2
25,000,000 *2.8/100~12& 8,400
DESIIZHLAM 2,500,000& *14] 2,500
DIOgEH &Y 177,000& x4 = 708
DOIECtUHE HMAE(FE, 3ANE S)
6,000,000 » 14l 6,000
PEMIPUOI=EZAML 35) 80,000& x12& 960
DagE A28 500, 000& =14 500
O4 124l 3,600
DOHE WUHZ22X 100, 000& #3021 %23] 600
DIIAHA 22X 100, 000& x32! %23| 600




D2 MSAMEA
CHEAME 282l
CCEHNSs22E

SN HH-S(BN) - MBAY - B il HlnE2
AN (2%, BA e7)
100, 000& x821 x23| 1,600
DrdUSE #E 100,000& 4021 x23] 800
O5 =&l 2,688
DOof2t, S22 7,000 83| *421 x 128 2,688
02 8323l 410,992 410,992
O1 332 % MA 320,210
D, €AF JIEZNE LEAHIIRS
,000& 13| & +123 120
DEAIN(HIASSHER) M3t
15,000& * 123l 180
DI 12,000,000 x12& 144,000
Daot=ERa 14,000,000& =122 168,000
DEZNERE S 1,500,000& »23| 3,000
PIUSKSYRES 2,000,000& =13l 2,000
DEZHEINESARE 180,000& 128 2,160
DAROHY AIEE 40,0003 123 480
DIOtAHI A MABE = 50,000& x13l 50
>E=0UXIDOl=el &3l 120,000& =12 120
> A ghord & 3l I 100,000& * 13l 100
02 A=l 90,782
DEEMSE e L 22 (S AIJEA)
1,085& x130m *2 Al 2k*320 90,272
> 2 & J] (300kw) 1,700& %3004 *13] 510
202 O4dl 3,840 3,840
01 =2 LHA YI 3,840 3,840
OtEgisa g2=2 320,000& 128 3,840
405 RHoHF S HI 44,280 44,280
01 AL EFSFHSHI 44,280 44,280
O= A 7,000,000 = 1CH 7,000
O&da=H 1,350,000& = 15CH 20,250
OF: N PEEN=R= D] 700, 0003 = 1CH 700
O &t 150,000& = 15CH 2,250
O Xt 250,000 »15CH 3,750
Oz EE 330,000& =174 330
Oslo 82 Xt 100,000& = 10CH 1,000
Ood&n 700,000& *4CH 2,800
o1V 1,000,000& »4CH 4,000
OHALE LA & A2 300,000 »2CH 600
OCIXIEatnict 500,000& = 1CH 500
Og=JI(=2%8) 110,000 = 10CH 1,100
CUNSBANLRNNL2 440,642 440,642




N 2 HMFSAE A

HE: AL 2g2e

e CEHS22Y (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 L2l 259,542 0 259,542
01 At 22l 52,230 0 52,230
O1 det=2Hl 52,230
DCEMSH HASE(SEXNL 258)
2,500,000& = 12& 30,000
Aotg MII4Hl e W= (HLH
600kw/ HI A& D] 300kw)  850,000% x12& 10,200
DASAY HMEE HElE 450,000 «12& 5,400
D&Y otM2ACIHEZ (%H%ZEH)
220,000& x2CH=12& 5,280
DEFNMAMEBANE FIED =2
350,000& =13l 350
DEAMUHAIDIN(ELH) BA=2=T)
250, 0003 *2CH *23] 1,000
02 3322l 207,312 0 207,312
O1 3322 % HMA 16,012
DEALAS(HFALEY S HESHA)
400,000 x12& 4,800
DAItE &II&Hl etE & EHY|
3,000,000 » 14! 3,000
DAESET HA(KSIEF 458)
18& 12,0004 *23| 432
DM EA 11,000& *190E »23| 4,180
DIQIGt=HMelAlE E4 L A2
300,000& x12& 3,600
O3 Al ZHI s Xl 191,300
DAStE+d H4A L 2B IRXE S (458
) 2,000, OOOOJ *200 A& 4,000
DOlEEE ZHHWA 65,0002 *20CH 1,300
DEXJEH WA ¥ 2el 1,000,000 x2CH 2,000
D8 =332 EHUA
2,000,000 »2CH 4,000
D= dHl 22 10,000,000 * 14 10,000
DAEEYYH Y SwEI| AZISA
3,000,000 =2CH 6,000
PEBSIBRANAY SN
15,000,000 * 14 15,000
DAL AAMNAY SABH(EIL 1
E) 5,000,000& =14 5,000
DRAGHANLAE AL (G EHIL 3F)
10,000, 000& * 14 10,000
NSHOHAMAE ST E= 5,000,000 14 5,000
DEAIRAEH RABS= (LA 205)
300,000& 1038 3,000
DEEMSHE HAZSY(2ZH IF)
126,000,000& * 14 126,000




2N REHHSALL
ZH: HSAL 29
ol cENSERY

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
206 M = dl 44,700 0 44,700
01 X2 bl 44,700 0 44,700

OFxdE ASAE 1,300,000& »12& 15,600
Ox=g& 218 10,0002 = 10024 1,000
Ox=g9 & sdH 200,000& x12& 2,400
Oxd% =Xels8 a2 500,000& ~12& 6,000
o2 H2H 250,000 x12& 3,000
OGALMEX A2 S 8,000, 0003 »14] 8,000
otxg 2= X 200,000& *1JH 200
OA=, I, E4l, 28 S(EFI| 2 208)
250,000 x20& 5,000
QdllHEZHOI (AFRFE HIXIZ) 30,0002 %104 300
OJIAHAH 27 AU (ANHSL 208)
40,000& *305 1,200
OARIDJl & 2E2+7Y 20,000& = 1004 2,000
401 Al HI L 2 0HHI 121,000 0 121,000
01 A& HI 121,000 0 121,000
OCEs2 =98 SgacMN A 25
101,000, 000& = 14! 101,000
OLEHs2 MEs SNEL(AS, JIH, &
Jl s) 20,000,000& =14 20,000
405 Ko SHI 15,400 0 15,400
01 JHMt = S F S HI 15,400 0 15,400
Oxg & =534 15,000, 000& = 1CH 15,000
OXFHEANA EHD 400,000 = 1CH 400
HE2H 3| 341,851 294,721 47,130
QI SAH| (S HMSAIE L) 246,105 199,915 46,190
Ol SAY|(2SIMSAIE A) 246,105 199,915 46,190
101 @121l 246,105 199,915 46,190
01 24 171,148 140,212 30,936
OAZ2AZ222Y 8,930 x24 21 %540 A| 2+ 115,733
Ol (=20 . s2023H=HH) 55,415
Dof22R44 23,816 6021 %365 1/2 26,079
DA 2R S

8,930 x5 *x3A| 2+ %3652 +1/2 29,336

02 JIEA 2 %= 74,957 59,703 15,254
OAZ2AZ2E 8,930 x 1521 %300 A| 2+ 40,185
ooz 23,816 8021 %365 1/2 34,772

JI2ZH (2 HSAE A) 95,746 94,806 940

2 (2SHAMEAN) 95,746 94,806 940
201 LEr2 Y| 76,806 76,206 600




A SSHSAME A
Hu: AR
o2 J2FU (2SS AL L) (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDS
01 AFR2t2l bl 19,656 19,056 600
O1 getx=2H| 12,600
DEANSIG 2 1,000,000& x12& 12,000
D 2blE0Egr+& 200,000& *33] 600
O5 = &l 7,056
>of2t - 52422 7,000& x 1401 x63| x12& 7,056
02 332494l 57,150 57,150 0
O1 222=2 % HA 55,100
D 2RI M (HE A )
520,000,000& «10/100 52,000
DASIAM, EE82  sF3MERE2
2,500, 000& * 14 2,500
DS (HIASSEX) 6l S
50,000& x12& 600
O4 XA el 2,050
PHEAE SIE=X 3,416,000& »1CH =60/ 100 2,050
202 (4] 13,440 13,320 120
01 2L Y] 13,440 13,320 120
OJI=2gd 230 bl 1,120,000& x12& 13,440
203 ¥R =&Y 5,500 5,280 220
02 RN R =X 1,240 1,080 160
OFAAINAMARFEY| 40,000& =312l 1,240
04 2SI L RF=AH| 4,260 4,200 60
ORAN2ELERFAH| 355,000& x12& 4,260




